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BACHELOR OF EDUCATION (B.Ed.) 

Term-End Examination 

077,7 1 	June, 2017 

BES-142 : PEDAGOGY OF SOCIAL SCIENCE 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : All questions are compulsory. All questions carry 
equal weightage. 

1. Answer the following question in about 
600 words : 

Explain the meaning of Social Sciences. Discuss 
the various approaches to teaching Social 
Sciences at the secondary school level with 
examples. 

OR 

What is a lecture ? Explain how you can use the 
lecture method effectively to teach Social 
Sciences, with an example. 

2. Answer the following question in about 
600 words : 

What are the aims and objectives of teaching 
history at the secondary school level ? Discuss 
the various approaches in the teaching of 
history. 

OR 

Explain briefly the meaning and scope of 
geography. Discuss how questioning can be used 
to teach geography effectively, giving suitable 
examples. 
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3. Answer any four of the following questions in 
about 150 words each : 

(a) State the major events in the course of the 

French Revolution. 

(b) Differentiate between democratic and 

non-democratic forms of government. 

(c) Mention any two teaching-learning 

activities to teach drainage systems in 

India. 

(d) How can simulation games be used to teach 

concepts in Economics ? Illustrate your 

answer with examples. 

(e) Explain the meaning and impact of 

globalisation. 

(f) Elaborate the concept of continuous and 

comprehensive evaluation. 

4. Answer the following question in about 
600 words : 

What is a unit plan ? Select a unit/chapter from 

the Social Science curriculum at the secondary 

level. Prepare a detailed unit plan on it. 
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